E;f I (j fﬁ%ﬁ{)
FrlEEE el 5 U AR s
tan<9=5=g

G

E?‘LELEG =1067mm , g=9.8m/sec?

1067V ? V2

- B8 H) C (mm) = 127R _843_00073v D

i ik
G T hlﬁ = B ‘E”W’&"Wﬁ F‘ EL
‘ﬁﬁgf S| [ o ’gl il @ /l_l\—r—IEBjFI[ IFHF
IFIHIJ I/}[Jxrju ’ [H}#E [; \F\ﬁ Ij:[ —EI—}L IaE [u g
FIJH;‘%EJ /o
tanﬁzG—/Z:g

G

iy R~ g H =1700mm

8 C' (mm) = 10671/ 3001067 ~335mm

© Hi ﬁﬁrﬁf“ﬁl’ﬂw = R
ﬁ{%ﬁ|@ C' 62
Effl[f?r—%ﬁ T C 2CH
CH 1 G
tan @ = — , y=——=-"x
H G G f 2

— 135—1/ E Elrf 3°7 ’ EMFJ;EEH\,J A =
mm ; {5 rJrE”le»sJ/{EI R B R 1

ALl = JJ%JT



OFlIfrsguat=e i =

H 1+tanatané
H\V >V, (V2 o)
i o ATTVR

— A[ gk [’Jﬂgﬁjﬂlﬁf[ [ P'J M Gt IEI‘U/E'EE‘g

G , 127R G 1

ETRYE VZ)_ZH VI C

127R G

Vv :\/127R (i+9)
[HEH =5 'FIF?%?IPE*]E Ay — BBV f=4 -

Of T ELE

C,=C,-C=84

2 _\2

(%)zl C = P TEEASE S T 18G

2 2
8H = 8(1700)

T AR Ce=50mm > TR
é =60mm




O

O/

ReY
127R

T
i=
2

, G =1067 + * 3 + EHR FLL + X + X,

X, + X, B JF[E‘}LEI 5&* I "E%TP[HID AL
QS U B v A R J’E[””“PJ s

E”[ EL(EIEI Tu

G

V, < \/127R &

2fH G

@ f =4,G=1067mm,H =1700mm,C =105mm

V, < 4.74R(~ jBHgsm)

(2)f =4,G=1067mm,H =1700mm,C = 0mm
3.16VRGE %, g sy

V, <

T

L,>nC , L,>aCV , L,>aC\V

T i, &, afif
% PR FARSEL | akse ke
n 0.8 0.6 0.4
a 0.01 0.008 0.006
a' 0.009 0.009 0.007
@)L, >nC
BRI = W%’ﬂﬂ%@
1_f_ @ MPe-@isEds  20-9 1
n ¢ Wﬁ&iﬁiﬁ' 4600 ~ 400
(2)L, >aCV
F,;@tﬁ' T Eﬁf ?F,ﬁ fgrpgl <29, 35,46 mm/sec
L, =0. 278V{£ < 3} [0.01,0.008,0.006]CV
2935 46

()L, >a'C,V
884 S U BT <0.03glsec

L, =0.278V

G (0.03g)

_S9 0009,V




[&42]
- IR BRIkt E=1500 2 E".’B;‘???F,’F,Igj@
=100mm = 5 {1 9 IerJHHJ = [8k=4 > FifE -~ b =1700mm

(15%)
(@) FHRES[H T L = szrﬁ [1 o
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For the track alignment of Taiwan railways, assuming the radius or

curvature (R) is 1,500 m, actual superelevation is 100 mm. If the safety

factor of overturning toward the outer rail is set to 4, the height of the

center of gravity of the train is 1700mm - (15%)

(c) Determine the highest allowable train speed on the curve.

(d) If the highest train is set to 160 kph, please determine the required
length of transition curve using the Grade A specifications as shown

in Table 1.
Table 1 The n, a, a' values used for Taiwan railways
Grade A Grade B Special Route
n 0.8 0.6 0.4
a 0.01 0.008 0.006
a 0.009 0.009 0.007

FHRIEELD A = TR EE L
The overturning safety factor of a train car is defined as the ratio of
and actual superelevation.

[%)' E[H»Ekw

/ﬂ{i{’?:@H[ » T :Eér,ﬁﬁ iﬁﬂ
[P I/Ff %_T _"‘J{FJ{‘J F{n‘ﬁﬁf ig'F,FI

& -

BRI i -

JI:IE l‘%_i




